Note: the best way to study for the tests is to:

-Start by reading the lecture notes twice (if you don´t, your study will be of a much lower quality).

Then, leave the notes aside and answer the weekly questions (I do not value answers that are transcriptions of the lecture notes). If you do this, you’ll have to study much less before for the tests. 
Reserve some hours (perhaps 4) every week to answer the questions. Students who choose not to answer the weekly questions seldom pass the course.
The answers should be handed to me next Monday. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the slides). Keep a copy for yourself.

Please write ‘WEEK 10’ in bold at the beginning of your answers
WEEK 10
L19: The paradox of saving + paradox of profits

The paradox of saving

Two crucial ideas behind the whole argument:

i).My spending is your income => when I save less and spend more, you earn more and save more => in the short-run, overall S doesn’t change.

ii) When I save less and spend more, businesses’ utilization and profits rise today and they become more optimistic => investment rises tomorrow =>

- AD and output rise tomorrow.

- larger production capacity tomorrow than otherwise (because in this lecture we assume investment affects capacity without lags).
2. a) Within a static model and starting well below full-employment, explain the effects of a sudden decrease in the autonomous saving on output, unemployment, CB’s interest rates, investment, aggregate profits and aggregate wages and overall saving.

b) Overall, what are the effects on today’s and tomorrow’s welfare?

3. The same question, but starting at full-employment.

4. Within a dynamic model and starting well below full-employment, explain the effects of a sudden decrease in the autonomous saving on:

a) Today’s output, unemployment, CB’s interest rates, investment, aggregate profits and aggregate wages and overall saving.

b) Tomorrow’s output, unemployment, investment, aggregate profits and aggregate wages and production capacity.

c) After tomorrow’s output, unemployment, investment, aggregate profits and aggregate wages and production capacity.

5. Starting well below full-employment, are the effects of that sudden decrease in the autonomous saving of capitalists better or worse in a dynamic model compared to a static model? Explain.

The effects of a decrease in unit profit margins

Two crucial ideas behind the whole argument:

i) If all businesses raise their profits by reducing wages, workers buy less => businesses’ profits fall (back to the initial level, because aggregate profits’ are determined by capitalists’ expenditures).

ii) When workers buy less, businesses’ utilization and profits fall today => investment falls tomorrow =>

- AD, output and profits fall tomorrow: the paradox of profits.

- smaller production capacity tomorrow than otherwise (because we assume investment affects capacity without lags)
6. a) Within a Kaleckian static model, explain the effects of a decrease in the unit profit margins on output, unemployment, CB’s interest rates, investment, aggregate profits and aggregate wages and overall saving.

b) Overall, what are the effects on today’s and tomorrow’s welfare?

7. Are the effects of that sudden decrease in the unit profit margins better or worse in a dynamic model compared to a static model? Explain.

~
L20: Turning points of the cycle + Okun’s law + Minsky’s explanation for the GR of 2008-9
8. Do not answer. Look at the following graph:
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a) In which way may the evolution of the prices of imported raw materials contribute to the end of expansions?

b) If all raw materials were domestically produced, could the same argument be made? Explain.
9. What are the two other possible explanations for the upper turning-point?

10. a) What is autonomous investment? How does it evolve along time?
b) In which way autonomous investment may lead to the recovery from a recession?
12. a) Why doesn’t growth on trend reduce unemployment? 
b) “If output stays constant, so does employment and unemployment.” Do you agree? Explain.

c) If output falls by 5% and TP increases the production per worker by 3%, what happens to employment?
d) What is meant by a jobless recovery?
e) If output rises 2 pp point above trend, why doesn’t employment rise by 2 percent? F) f) In that case, what happens to the unemployment rate? What’s the name of that relation between output above-trend growth and the change in U?

13. a) Characterize the credit to buy houses in the US in 2002-6.

b) Why did the Fed raise interest rates after Jan 2005?

14. What was the consequence of the Fed’s rate rises? 

15. Explain the other reason why the Fed was responsible for the GR of 2008-9.

16. When banks start:

a) Fearing a decline in GDP, they may trigger a decline in GDP that would otherwise might not occur. Why?
b) Believing in strong GDP growth, they reinforce the probability of that happening. Why?
